	Project 2 - Saska	toon S	chool De	signs - Ham	pton Sch			
	PA - SCHEDULE OF ACCOMMOD	ATIONS					P DESIGN - L SUBMISSION	1
FUNCTIONAL PROGRAM #	ROOM NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
	PROGRAM FLEXIBILITY							
PROGRAM FLE	EXIBILITY - CHILD CARE CENTRE							
D1.2A	TODDLER	1.0	78.0	78.0	1.0	78.0	78.0	0.0
D1.2B	PRESCHOOL/TODDLER	1.0	82.0	82.0	1.0	82.0	82.0	0.0
D1.2C	PRESCHOOL	1.0	91.0	91.0	1.0	91.0	91.0	0.0
D1.2D	PRESCHOOL	1.0	91.0	91.0	1.0	91.0	91.0	0.0
D1.4	SLEEP	2.0	14.0	28.0	1.0	14.0	14.0	-14.0
D1.4	SLEEP	0.0	0.0	0.0	1.0	14.0	14.0	14.0
D1.5	STAFF ROOM	1.0	21.0	21.0	1.0	21.0	21.0	0.0
D1.6	OFFICE	2.0	11.0	22.0	1.0	11.0	11.0	-11.0
D1.6	OFFICE	0.0	0.0	0.0	1.0	11.0	11.0	11.0
D1.7	CUBBIES	1.0	44.0	44.0	1.0	0.0	0.0	-44.0
D2.1	KITCHEN	1.0	44.0	44.0	1.0	44.0	44.0	0.0
D2.2	PANTRY	1.0	9.5	9.5	1.0	10.0	10.0	0.5
D2.3	TUB	1.0	8.5	8.5	1.0	9.0	9.0	0.5
D2.4	CHANGE ROOM	1.0	9.5	9.5	1.0	9.0	9.0	-0.5
D2.5	LAUNDRY	1.0	8.0	8.0	1.0	9.0	9.0	1.0
D2.6	STORAGE	1.0	13.0	13.0	1.0	13.0	13.0	0.0
D2.7	VESTIBULE		60.0	60.0	1.0	27.0	27.0	-33.0
D2.7	VESTIBULE	0.0	0.0	0.0	1.0	27.0	27.0	27.0
D2.8	w/c	2.0	15.5	31.0	1.0	15.5	15.5	-15.5
D2.8	W/C	0.0	0.0	0.0	1.0	15.5	15.5	15.5
D2.11	JANITOR	1.0	7.0	7.0	1.0	7.0	7.0	0.0
D2.12	INFANT	1.0	50.0	50.0	1.0	50.0	50.0	0.0
PROGRAM FLI	EXIBILITY - CHILD CARE TOTAL	20.0		697.5	22.0		649.0	-48.5
PROGRAM FLE	EXIBILITY - COMMUNITY RESOURCE CENTRE							
D3.1	COMMUNITY RESOURCE CENTRE	1.0	110.0	110.0	1.0	110.0	110.0	0.0
D3.2	MEETING ROOM	1.0	20.0	20.0	1.0	20.0	20.0	0.0
D3.3	OFFICE	1.0	10.0	10.0	1.0	10.0	10.0	0.0
D3.4	W/C	1.0	9.0	9.0	1.0	9.0	9.0	0.0
D3.5	COMMUNITY STORAGE	1.0	20.0	20.0	1.0	20.0	20.0	0.0
PROGRAM FLI	EXIBILITY - COMMUNITY RESOURCE TOTAL	5.0		169.0			169.0	0.0
PROGRAM FLE	XIBILITY - PRE-KINDERGARTEN							
P3.1	LEARNING SPACE - PRE KINDERGARTEN	2.0	85.0	170.0	1.0	85	85.0	-85.0
P3.1	LEARNING SPACE - PRE KINDERGARTEN	0.0	0.0	0.0	1.0	85	85.0	85.0
P3.2	PRE KINDERGATEN W/C	2.0	4.5	9.0	1.0	4.5	4.5	-4.5
P3.2	PRE KINDERGATEN W/C	0.0	0.0	0.0	1.0	4.5	4.5	4.5
PROGRAM FLI	EXIBILITY - PRE-KINDERGARTEN TOTAL	4.0		179.0			179.0	0.0
PROGRAM FLI	EXIBILITY TOTAL			1045.5			997.0	-48.
GROSS FACTO	R			12.90%				
GROSS FACTO	R AREA			134.9				
PROGRAM FLI	EXIBILITY FOOTPRINT TOTAL			1180.4			1233.0	-48.5

Project 2 - Saskatoon School Designs - Hampton Schoo
--

	Project 2 - Sasi		CITOOI DC	signs man	pton sci		DESIGN -	
	PA - SCHEDULE OF ACCOMMO	DDATIONS					L SUBMISSION	ı
	ROOM							VARIANCE
FUNCTIONAL PROGRAM #	NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	FROM S.O.A. AREA m2 (NET)
	GREATER SASKATOON CATHOLIC S	SCHOOL (G	SCS)					
ADMINISTRAT	TION							
A1.0	RECEPTION	1.0	45.0	45.0	1.0	45.0	45.0	0.0
A1.1	WAITING	1.0	24.0	24.0	1.0	24.0	24.0	0.0
A2.1	COUNSELLING / FIRST AID	1.0	32.0	32.0	1.0	32.0	32.0	0.0
A3.1	PRINCIPAL'S OFFICE	1.0	14.0	14.0	1.0	14.0	14.0	0.0
A3.2	VICE PRINCIPAL'S OFFICE	1.0	12.0	12.0	1.0	12.0	12.0	0.0
A3.5	INTINERANT SPACE	2.0	15.0	30.0	1.0	15.0	15.0	-15.0
A3.5	INTINERANT SPACE	0.0	0.0	0.0	1.0	15.0	15.0	15.0
A3.7	BUILDING SERVICES WORK STATION	1.0	12.0	12.0	1.0	15.0	15.0	3.0
A4.1	STAFF ROOM	1.0	65.5	65.5	1.0	65.5	65.5	0.0
A4.2	TEACHER COLLABORATION	4.0	28.0	112.0	1.0	28.0	28.0	-84.0
A4.2	TEACHER COLLABORATION	0.0	0.0	0.0	1.0	28.0	28.0	28.0
A4.2	TEACHER COLLABORATION	0.0	0.0	0.0	1.0	28.0	28.0	28.0
A4.2	TEACHER COLLABORATION	0.0	0.0	0.0	1.0	28.0	28.0	28.0
A4.3	WORKROOM	2.0	26.0	52.0	1.0	31.0	31.0	-21.0
A4.3	WORKROOM	0.0	0.0	0.0	1.0	31.0	31.0	31.0
A4.4	STORAGE	1.0	10.0	10.0	1.0	10.0	10.0	0.0
G2.7	COUNSELLING	1.0	25.0	25.0	1.0	25.0	25.0	0.0
ADMINISTRAT	TION TOTAL	17.0		433.5	17.0		446.5	13.0
BUILDING SER	EVICE							
B1.0	SERVERY	1.0	36.0	36.0	1.0	36.5	36.5	0.5
B2.1	GIRLS CHANGE	1.0	30.0	30.0	1.0	30.0	30.0	0.0
B2.2	BOYS CHANGE	1.0	30.0	30.0	1.0	30.0	30.0	0.0
B2.3	KINDERGARTEN WASHROOM						0.0	0.0
B2.4	STUDENT W/C						0.0	0.0
B2.5	UNISEX BARRIER FREE W/C						0.0	0.0
B2.6	STAFF W/C						0.0	0.0
B2.7	SHOWER	1.0	4.5	4.5	1.0	4.5	4.5	0.0
B4.0	RECYCLING	2.0	10.0	20.0	1.0	11.0	11.0	-9.0
B4.0	RECYCLING	0.0	0.0	0.0	1.0	11.0	11.0	11.0
B5.0	JANITOR			48.0	1.0	13.2	13.2	-34.8
B5.0	JANITOR			0.0	1.0	13.2	13.2	13.2
B5.0	JANITOR			0.0	1.0	13.2	13.2	13.2
B5.0	JANITOR			0.0	1.0	13.2	13.2	13.2
B5.0	JANITOR CVM OFFICE	1.0	10.0	0.0	1.0	13.2	13.2	13.2
B8.1	GYM STORAGE	1.0	18.0 84.0	18.0 84.0	1.0	18.0 84.0	18.0	0.0
B8.2 BUILDING SER	GYM STORAGE	1.0 8.0	64.0	270.5	13.0	04.0	84.0 291.0	0.0 20.5
DOILDING SER	WISE IVIAL	0.0		270.5	13.0		231.0	20.5

Appendix 3A, Attachment 1 - Schedule of Accomodation
Project 2 - Saskatoon School Designs - Hampton School

	Project 2 - Saska		CITOOI DC.	Jigiis Huili	pton ser	JUMP	DESIGN -	
	ROOM					TECHNICA	L SUBMISSION	
FUNCTIONAL PROGRAM #	NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
CIRCULATION		•	•					
C3	воот коом	2.0	27.0	54.0	1.0	29.5	29.5	-24.5
C3	BOOT ROOM	0.0	0.0	0.0	1.0	29.5	29.5	29.5
C4	MAIN ENTRY VESTIBULE	1.0	22.0	22.0	1.0	22.0	22.0	0.0
CIRCULATION	TOTAL	3.0		76.0	3.0		81.0	5.0
GENERAL INST	RUCTION		<u> </u>					
G1.1	LEARNING SPACE 2-8	11.0	80.0	880.0	1.0	80.0	80.0	-800.0
G1.1 G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1 G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1 G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1 G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1 G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1 G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1 G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1 G1.1				0.0	1.0	80.0		80.0
G1.1 G1.2	LEARNING SPACE 2-8 LEARNING SPACE K-1	0.0	0.0 80.0		1.0	80.0	80.0 80.0	
G1.2 G1.2		5.0		400.0 0.0	1.0	80.0	80.0	-320.0 80.0
G1.2 G1.2	LEARNING SPACE K-1	0.0	80.0		1.0	80.0		
	LEARNING SPACE K-1	0.0	80.0	0.0	1.0	80.0	80.0	80.0 80.0
G1.2	LEARNING SPACE K-1	0.0	80.0		1.0	80.0	80.0	
G1.2	LEARNING SPACE K-1	0.0	80.0	0.0		80.0	80.0	80.0
GENERAL INST	RUCTION TOTAL	16.0		1280.0	16.0		1280.0	0.0
INSTRUCTION	1							
G2.2	BREAKOUT	5.0	42.0	210.0	1.0	42.0	42.0	-168.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	42.0	42.0	42.0
G2.2 G2.2	BREAKOUT BREAKOUT	0.0	0.0	0.0	1.0	42.0 42.0	42.0 42.0	42.0 42.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	42.0	42.0	42.0
G2.6	LEARNING COMMONS	1.0	70.0	70.0	1.0	70.0	70.0	0.0
G2.8	PERSONAL CARE W/C	1.0	16.0	16.0	1.0	16.0	16.0	0.0
G2.9	SENSORY ROOM	1.0	14.5	14.5	1.0	14.5	14.5	0.0
G2.10	EAL CLASSROOM	1.0	50.0	50.0	1.0	50.0	50.0	0.0
G2.12	LAT INSTRUCTIONAL SPACE	1.0	53.0	53.0	1.0	53.0	53.0	0.0
G2.13	LAT OFFICE	1.0	21.0	21.0	1.0	21.0	21.0	0.0
G2.15	LAUNDRY / STORAGE	1.0	11.0	11.0	1.0	11.0	11.0	0.0
G2.16	STORAGE	1.0	7.0	7.0	1.0	7.0	7.0	0.0
G2.17	IT CLOSET	0.0	0.0	15.0	1.0	10.5	10.5	-4.5
G2.17	IT CLOSET	0.0	0.0	0.0	1.0	10.5	10.5	10.5
G2.19	IT STORAGE	4.0	2.5	10.0	1.0	2.5	2.5	-7.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.24	STUDENT COMMONS	2.0	90.0	180.0	1.0	92.5	92.5	-87.5
G2.24	STUDENT COMMONS	0.0	0.0	0.0	1.0	92.5	92.5	92.5
INSTRUCTION	AL SUPPORT TOTAL	19.0		657.5	21.0		668.5	11.0

Project 2 - Saskatoon School Designs - Hampton School

	110/2012 - 30380						DESIGN -	
	PA - SCHEDULE OF ACCOMMOD	ATIONS				TECHNICA	L SUBMISSION	1
	ROOM							VARIANCE
FLINICTIONIAL		# OF	AREA m2	TOTAL AREA	# OF	AREA m2	TOTAL AREA	
FUNCTIONAL PROGRAM #	NAME	UNITS	(NET)	m2 (NET)	UNITS	(NET)	m2 (NET)	S.O.A. AREA
PROGRAM #								m2 (NET)
PHYSICAL ACT	IVITY							
P1.1	GYM	1.0	485.0	485.0	1.0	485.0	485.0	0.0
P2.11	MULTI PURPOSE PHYSICAL ACTIVITY	1.0	170.0	170.0	1.0	170.0	170.0	0.0
PHYSICAL ACT	IVITY TOTAL	2.0		655.0			655.0	0.0
PROGRAM AR	TS							
P2.1	MULTI PURPOSE DA VINCI	2.0	90.0	180.0	1.0	96.0	96.0	-84.0
P2.1	MULTI PURPOSE DA VINCI	0.0	0.0	0.0	1.0	96.0	96.0	96.0
P2.6	MULTI PURPOSE PERFORMANCE	1.0	41.0	41.0	1.0	41.0	41.0	0.0
P2.8	MULTI PURPOSE VISUAL ARTS	1.0	110.0	110.0	1.0	110.0	110.0	0.0
P2.10	MULTI PURPOSE BAND	1.0	120.0	120.0	1.0	120.0	120.0	0.0
PROGRAM AR	TS TOTAL	5.0		451.0	5.0		463.0	12.0
RESOURCE CEI	NTRE							
R1.1	LIBRARY	1.0	190.0	190.0	1.0	120.0	120.0	-70.0
R1.2	RESOURCE / LIBRARY OFFICE	1.0	13.0	13.0	1.0	12.0	12.0	-1.0
R1.5	STORAGE	1.0	8.5	8.5	1.0	8.5	8.5	0.0
R1.6	RESOURCE ROOM	2.0	40.0	80.0	1.0	40.0	40.0	-40.0
R1.6	RESOURCE ROOM	0.0	0.0	0.0	1.0	40.0	40.0	40.0
R2.1	LIBRARY MEZZANINE	1.0	120.0	120.0	1.0	221.0	221.0	101.0
RESOURCE CE	NTRE TOTAL	6.0		411.5	6.0		441.5	30.0
SCIENCE LABS			<u> </u>					
P2.1	MULTI PURPOSE DA VINCI / SCIENCE STUDI	1.0	85.0	85.0	1.0	85.0	85.0	0.0
SCIENCE LABS	TOTAL			85.0			85.0	0.0
GSCS TOTAL				4320.0			4411.5	91.5
GROSS FACTO	B			43.75%			7711.5	71.3
GROSS FACTO				1890.0				
GSCS FOOTPR				6210.0			6549.4	
G3C3 FOOTPR	INT TOTAL			0210.0			0545.4	

Project 2 - Saskatoon School Designs - Hampton School

	Project 2 - Sask		CITOOI DC	signs man	pton sci		P DESIGN -		
	PA - SCHEDULE OF ACCOMMO	DATIONS				TECHNICAL SUBMISSION			
	ROOM							VADIANCE	
FUNCTIONAL PROGRAM #	NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)	
	SASKATOON PUBLIC SCHOO	L (SPS)							
ADMINISTRAT	ION								
A1.0	RECEPTION	1.0	62.0	62.0	1.0	62.0	62.0	0.0	
A1.1	WAITING	1.0	20.0	20.0	1.0	25.0	25.0	5.0	
A2.1	COUNSELLING / FIRST AID	2.0	20.0	40.0	1.0	20.0	20.0	-20.0	
A2.1	COUNSELLING / FIRST AID	0.0	0.0	0.0	1.0	20.0	20.0	20.0	
A3.1	PRINCIPAL'S OFFICE	1.0	14.0	14.0	1.0	14.0	14.0	0.0	
A3.2	VICE PRINCIPAL'S OFFICE	1.0	12.0	12.0	1.0	12.0	12.0	0.0	
A3.5	INTINERANT SPACE	1.0	20.0	20.0	1.0	20.0	20.0	0.0	
A3.7	BUILDING SERVICES WORK STATION	1.0	12.0	12.0	1.0	12.0	12.0	0.0	
A4.1	STAFF ROOM	1.0	65.5	65.5	1.0	94.0	94.0	28.5	
A4.2	TEACHER COLLABORATION	4.0	30.0	120.0	1.0	30.0	30.0	-90.0	
A4.2	TEACHER COLLABORATION	0.0	0.0	0.0	1.0	30.0	30.0	30.0	
A4.2	TEACHER COLLABORATION	0.0	0.0	0.0	1.0	30.0	30.0	30.0	
A4.2	TEACHER COLLABORATION	0.0	0.0	0.0	1.0	30.0	30.0	30.0	
A4.3	WORKROOM	2.0	32.0	64.0	1.0	32.0	32.0	-32.0	
A4.3	WORKROOM	0.0	10.0	0.0	1.0	32.0	32.0	32.0	
ADMINISTRAT	TION TOTAL	15.0		429.5	15.0		463.0	33.5	
BUILDING SER'	VICE		•						
B1.0	SERVERY	1.0	36.0	36.0	1.0	36.5	36.5	0.5	
B2.1	GIRL'S CHANGE	1.0	30.0	30.0	1.0	30.0	30.0	0.0	
B2.2	BOY'S CHANGE	1.0	30.0	30.0	1.0	30.0	30.0	0.0	
B2.3	KINDERGARTEN W/C						0.0	0.0	
B2.4	STUDENT W/C						0.0	0.0	
B2.5	BARRIER FREE W/C						0.0	0.0	
B2.6	STAFF W/C						0.0	0.0	
B2.7	SHOWER	1.0	4.5	4.5	1.0	4.5	4.5	0.0	
B4.0	RECYCLING	1.0	20.0	20.0	1.0	22.0	22.0	2.0	
B5.0	JANITOR			48.0	1.0	19.7	19.7	-28.3	
B5.0	JANITOR			0.0	1.0	19.7	19.7	19.7	
B5.0	JANITOR			0.0	1.0	19.7	19.7	19.7	
B5.0	JANITOR			0.0	1.0	19.7	19.7	19.7	
B8.1	OFFICE GYM	1.0	18.0	18.0	1.0	18.0	18.0	0.0	
B8.2	GYM STORAGE	1.0	84.0	84.0	1.0	84.0	84.0	0.0	
BUILDING SER	VICE TOTAL	7.0		270.5	11.0		303.8	33.3	

Project 2 - Saskatoon School Designs - Hampton Schoo
--

	PA - SCHEDULE OF ACCOMMOD			signs - man		JUMP	DESIGN - L SUBMISSION	
	ROOM							
FUNCTIONAL PROGRAM #	NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
CIRCULATION								
C3	BOOT ROOM	2.0	27.0	54.0	1.0	29.5	29.5	-24.5
C3	BOOT ROOM	0.0	0.0	0.0	1.0	29.5	29.5	29.5
C4	MAIN ENTRY VESTIBULE	1.0	22.0	22.0	1.0	22.0	22.0	0.0
CIRCULATION	TOTAL	3.0		76.0	3.0		81.0	5.0
GENERAL INST	RUCTION							
G1.1	LEARNING SPACE 2-8	15.0	80.0	1200.0	1.0	80.0	80.0	-1120.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1 G1.1		0.0	0.0	0.0	1.0	80.0	80.0	
	LEARNING SPACE 2-8					80.0		80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0		80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.1	LEARNING SPACE 2-8	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.2	LEARNING SPACE K-1	5.0	80.0	400.0	1.0	80.0	80.0	-320.0
G1.2 G1.2	LEARNING SPACE K-1 LEARNING SPACE K-1	0.0	0.0	0.0	1.0	80.0 80.0	80.0 80.0	80.0 80.0
G1.2	LEARNING SPACE K-1	0.0	0.0	0.0	1.0	80.0	80.0	80.0
G1.2	LEARNING SPACE K-1	0.0	0.0	0.0	1.0	80.0	80.0	80.0
	RUCTION TOTAL	20.0	0.0	1600.0	20.0	00.0	1600.0	0.0
INSTRUCTION				2000.0			1000.0	5.15
G2.1	ACTIVITY ROOM	1.0	35.0	35.0	1.0	35.0	35.0	0.0
G2.2	BREAKOUT	5.0	35.0	175.0	1.0	35.0	35.0	-140.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	35.0	35.0	35.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	35.0	35.0	35.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	35.0	35.0	35.0
G2.2	BREAKOUT	0.0	0.0	0.0	1.0	35.0	35.0	35.0
G2.3	RESOURCE / CULTURAL ROOM	1.0	30.0	30.0	1.0	30.0	30.0	0.0
G2.5	TUTORIAL	2.0	25.0	50.0	1.0	25.0	25.0	-25.0
G2.5	TUTORIAL	0.0	0.0	0.0	1.0	25.0	25.0	25.0
G2.6	LEARNING COMMONS	4.0	82.0	328.0	1.0	82.0	82.0	-246.0
G2.6	LEARNING COMMONS	0.0	0.0	0.0	1.0	82.0	82.0	82.0
G2.6	LEARNING COMMONS	0.0	0.0	0.0	1.0	82.0	82.0	82.0
G2.6	LEARNING COMMONS	0.0	0.0	0.0	1.0	82.0	82.0	82.0
G2.8	PERSONAL CARE W/C	1.0	16.0	16.0	1.0	16.0	16.0	0.0
G2.9	SENSORY ROOM	1.0	30.0	30.0	1.0	30.0	30.0	0.0
G2.11	FLS CLASSROOM	1.0	97.0	97.0	1.0	97.0	97.0	0.0

Project 2 - Saskatoon School Designs - Hampton School

	PA - SCHEDULE OF ACCOMMO	DATIONS					DESIGN - L SUBMISSION	ı
FUNCTIONAL PROGRAM #	ROOM NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
G2.14	LAUNDRY	1.0	15.0	15.0	1.0	15.0	15.0	0.0
G2.16	STORAGE	1.0	26.0	26.0	1.0	26.0	26.0	0.0
G2.17	IT CLOSET	0.0	0.0	15.0	1.0	16.6	16.6	1.6
G2.17	IT CLOSET	0.0	0.0	0.0	1.0	16.6	16.6	16.6
G2.17	IT CLOSET	0.0	0.0	0.0	1.0	16.6	16.6	16.6
G2.19	IT STORAGE	4.0	2.5	10.0	1.0	2.5	2.5	-7.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.19	IT STORAGE	0.0	0.0	0.0	1.0	2.5	2.5	2.5
G2.20	FLS KITCHEN	1.0	26.0	26.0	1.0	26.0	26.0	0.0
G2.24	STUDENT COMMONS	1.0	65.0	65.0	1.0	85.0	85.0	20.0
INSTRUCTION	AL SUPPORT TOTAL	24.0		918.0	27.0		972.8	54.8
PHYSICAL ACT	IVITY							
P1.1	GYMNASIUM	1.0	485.0	485.0	1.0	485.0	485.0	0.0
P2.11	MULTI PURPOSE PHYSICAL ACTIVITY	1.0	170.0	170.0	1.0	170.0	170.0	0.0
PHYSICAL ACT	TIVITY TOTAL	2.0		655.0	2.0		655.0	0.0
PROGRAM AR	TS							
P2.4	MULTI PURPOSE MUSIC	1.0	45.0	45.0	1.0	45.0	45.0	0.0
P2.6	MULTI PURPOSE PERFORMANCE	1.0	41.0	41.0	1.0	41.0	41.0	0.0
P2.7	MULTI PURPOSE FLEX / DRAMA	1.0	45.0	45.0	1.0	45.0	45.0	0.0
P2.8	MULTI PURPOSE VISUAL ARTS	1.0	120.0	120.0	1.0	120.0	120.0	0.0
P2.10	MULTI PURPOSE BAND	1.0	120.0	120.0	1.0	120.0	120.0	0.0
PROGRAM AF		5.0		371.0	5.0		371.0	0.0

Appendix 3A, Attachment 1 - Schedule of Accomodation
Project 2 - Saskatoon School Designs - Hampton School

	PA - SCHEDULE OF ACCOMMOD		<u> </u>	Jigno Hum	pton ser	JUMP	DESIGN -	
	ROOM					TECHNICA	L SUBMISSION	
FUNCTIONAL PROGRAM #	NAME	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	# OF UNITS	AREA m2 (NET)	TOTAL AREA m2 (NET)	VARIANCE FROM S.O.A. AREA m2 (NET)
RESOURCE CE	NTRE							
R1.1	LIBRARY	1.0	160.0	160.0	1.0	128.0	128.0	-32.0
R1.2	RESOURCE / LIBRARY OFFICE	2.0	16.0	32.0	1.0	16.0	16.0	-16.0
R1.2	RESOURCE / LIBRARY OFFICE	0.0	0.0	0.0	1.0	16.0	16.0	16.0
R1.4	LIBRARY SEMINAR	1.0	16.5	16.5	1.0	16.5	16.5	0.0
R1.6	RESOURCE ROOM	1.0	20.0	20.0	1.0	30.0	30.0	10.0
R2.1	LIBRARY MEZZANINE	1.0	195.0	195.0	1.0	225.0	225.0	30.0
RESOURCE CE		6.0		423.5	6.0		431.5	8.0
SCIENCE LABS		T			4.0	100.0		
P2.1	MULTI PURPOSE DA VINCI / SCIENCE	1.0	90.0	90.0	1.0	120.0	120.0	30.0
SCIENCE LABS	TOTAL			90.0			120.0	30.0
SPS TOTAL				4833.5			4998.1	134.6
GROSS FACTO)R			43.20%				
GROSS FACTO	DR AREA			2088.1				
RPS FOOTPRIN				6921.6			7487.4	
			<u> </u>				<u> </u>	
BUILDING TO	TAL			10199.0			10406.6	177.6
GROSS FACTO	PR AREA TOTAL		40%	4112.9		16%	1655.4	-2457.5
	OOTPRINT TOTAL D PERMANENT CONST.)			14311.9			12062.0	-2249.9
(WITH ADDL	DIEMMANENT CONST.							
ADDITIONAL E	ELEMENTS - EVERGREEN SCHOOL							
	RELOCATABLE CLASSROOM	0.0	83.0	0.0	0.0	83.0	0.0	0.0
	RELOCATABLE CLASSROOM W/ CORRIDOR	0.0	105.0	0.0	0.0	105.0	0.0	0.0
	2ND LEVEL OUTDOOR LEARNING SPACE			200.0			200.0	0.0
ADDITIONAL F	ELEMENTS - HAMPTON SCHOOL							
ADDITIONALL	RELOCATABLE CLASSROOM	6.0	83.0	498.0	6.0	83.0	498.0	0.0
	RELOCATABLE CLASSROOM W/ CORRIDOR		105.0	630.0	6.0	105.0	630.0	0.0
	2ND LEVEL OUTDOOR LEARNING SPACE			200.0			200.0	0.0
ADDITIONAL E	ELEMENTS - ROSEWOOD SCHOOL							
	RELOCATABLE CLASSROOM	1.0	83.0	83.0	1.0	83.0	83.0	0.0
	RELOCATABLE CLASSROOM W/ CORRIDOR	1.0	105.0	105.0	1.0	105.0	105.0	0.0
	2ND LEVEL OUTDOOR LEARNING SPACE			200.0			200.0	0.0